Tableaux des Puissances de Dix (G)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (G) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 0,5 0,0005 500 5000
2 1 0,001 1000 10 000
36 18 0,018 18 000 180 000
25 12,5 0,0125 12500 125000
1 0,5 0,0005 500 5000
23 11,5 0,0115 11500 115000
X 0,07 7 000 70 000 0,7
32 2,24 224000 2240000 22,4
90 6,3 630 000 6 300 000 63
96 6,72 672 000 6720000 67,2
61 4,27 427000 4270000 42,7
15 1,05 105 000 1050000 10,5
+ 0,0008 0,08 80 0,008
33 41 250 412,5 0,4125 4125
23 28 750 287,5 0,2875 2875
80 100 000 1000 1 10 000
51 63 750 637,5 0,6375 6375
69 86 250 862,5 0,8625 8625
+ 0,03 0,0003 30 0,003
96 3200 320 000 3,2 32000
2 66,66666667 H 666,66666667] 0,06666667 |666,66666667
9 300 30000 0,3 3000
30 1000 100 000 1 10 000
82 v 733,3333333%3 333,3333333 2,73333333 |7 333,3333333

MathsLibres.com




